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Attempt any Five questions.
All questions carry equal marks.
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1. Ikfine gross demestic product. Explain any one method
of ectimating gross domestie product. Show the deriva-
tivn of net domestie product, given the gross domestic
product. 105
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What do you understand by the consumption function ?

Explain the meahing of autonomous consumption.
i
If C = 80 + 0.7:{1’, find out the value for savings
I ) .
function (S). ! : 10,5
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Show the effects of contractionary aggregate demand shock

on price level and real gross domestic product, both in
the short and the long run. .15 |
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Given the following : 15

Consumption (C) = 60 + 0.6(Y ~ T)

Government expendlture (G) = Rs. 100 crs.

Investment (I) = Rs. 500 crs.
t

Taxes (T) = ;Rs. 40 ers.
P.T.O.'
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Exports (X) = Rs. 20 ¢rs.
Imports (M) = 40 + 0.UY - D
find :
{a} Equilibrium level of income (Y}
{b) Equilibrium level of consumption;
(c) Eguilibrium level of savings;
id) Disposable income;
(¢} Net exports,
freferfas wew
IO (C) = 60 + 0.6(Y — T)
WWHEH T (G) = 100 FIZ
e () = 500 FUT 7.
F(T) = 40 FIS 5.
Fata (x) = 20 =T+
HEHT (M) = 40 « 0.1Y - T)
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Define money. List and explain the furlictions of

money. 15
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Show the derivation of IS, LM curves. Discuss the

IS-LM equilibrium. 10,6
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‘What do y;)u understand by credit creation ? Show the
process of credit creation by oon_:xmercia] banks using ratios

approach. 15
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Write short notes on any two : 7",75

(@) Determination of exchange rates;

(b) Speculative demand for money;

fc) Derivation of investment multiplier using MPC.
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